53.

54.

55.

56.

57.

Which one of the following gives the correct

chronological order of the vedas?

(a) Rigveda — Samaveda — Atharvaveda —
Yajurveda

(b) Rigveda — Samaveda — Yajurveda —
Atharvaveda

() Atharvaveda - Yajurveda — Samaveda
— Rigveda

(d) Rigveda — Yajurveda — Samaveda,
Atharvaveda

Free services provided to humans by

ecosystems include

(a) control of atmospheric carbon dioxide
concentration

(b) prevention of soil erosion

(c) filtering of pollutants from water and
air

(d) all of the above

TRYSEM is a centrally sponsored program
that was started on 15th August 1979.
TRYSEM deals with the training of?

(a) Young scientists for employment

(b) Rural youth for self employment
() Young students for employment
(d) Young Women for employment

Which of the following are among the non-
Plan expenditures of the Government of
India?

I. Defence expenditures

II. Subsidies

ITII. Interest payment

IV. All expenditures linked with the
previous plan periods

Code:

(@) Iand II are correct

(b) Iand III are correct

() II and IV are correct
(d) LIIL, III & IV are correct

Consider the following statements
I. Sunga dynasty was founded by
pushyamitra

II. Ashoka the great Mauryan king died
in 332 BC

III. Ashoka invaded the kalinga in 261 BC

IV. Chandragupta Maurya earned the title
of the Liberator.

Which among the following is/are correct?
(@) IandII Only

(b) Iand III only

(c) I, II and III only

(d) I, III and IV only

58.

59.

60.

61.

62.

Assertion (A): Presently, global atmosphere

is warming up.

Reason (R): The depletion of the

stratospheric ozone layer has resulted

in an increase in ultraviolet radiation
reaching the earth.

Choose the correct answer

(a) Both Assertion (A) and Reason (R)
are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are
true and Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is True but Reason (R)
is False.

(d) Assertion (A) is False but Reason (R)
is True.

The institution of Lok-Ayukta was
established first in the state of

(a) Gujarat

(b) Maharashtra

() Rajasthan

(d) Kerala

Who among the following headed provincial
constitution committee of constituent
assembly?

(a) J.B. Kirpalani

(b) H.C. Mukherjee

() A.V. Thakkar

(d) Sardar Vallabai Patel

The type of unemployment in which the
persons are employed only for certain
period in a year and will get get employment
only in that period in the forthcoming years
is

a) Disguised Unemployment

(@)

(b) Seasonal Unemployment
(c) Agricultural Unemployment
(

d) None of the above

Who established Deewan-i-waqf?
(a) Alauddin Khalzi

(b) Balban
() Nasiruddin Shah
(d) Razia
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